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Seesaw
Highlights.

Class 3




Geography

Chester did a fantastic

pair of posters s
the human and
features of Stan
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and the local area.
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Art

Jack went out and
collected some
natural resources for
his piece of Andy
Goldsworthy inspired
natural art.
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1a. Kyle has é sweets. He gives half of 1b. Arooj has 14 sweets. She gives half of
them to Katie. them to Max.

00006006606
dd d d d 0000600660

We will get 8
sweets each.
Is Kyle correct? Explain why. Is Arooj correct? Explain why.

2a. Use the correct digit cards to 2b. Use the correct digit cards to
complete the calculation below. complete the calculation below.

3a. Mum is tidying up and she finds 8 3b. Dad is tidying up and he finds 10
shoes. earrings.
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4a. Emma has 18 pieces of chocolate.
She gives half of them to Mike.

a“ca

Is Emma correct? Explain wh

She's wrong because 18 divided into 2
is 9 pieces each.

5a. Use the digit cards to make 4 division
calculations.

éa. Dad is tidying up and he finds 16
socks.

How many pairs can he make?

ocks. C
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Yes he can now
make 11 pair:

4b. Lia has 22 pieces of chocolate. She
gives half of them to Joe.

5b. Use the digit cards to make 4 division
calculations.

éb. Sam is tidying up and she finds 24
socks.

How many pairs can she make? @

Cal e
Yes she can still make
8 pairs. s




Character Development

The children designed posters about how to use Seesaw safely

and appropriately.
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